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Topics for Today

Topics

Sum and Difference of Radicals

Solving Radical Expressions



Recall the definition of

Exponentiation.
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Properties of Exponents

Even Root n n
√
a

a positive → result is positive.

a negative → NOT POSSIBLE!

Odd Root n n
√
a

a positive → result is positive.

a negative → result is negative.



Arithmetic examples of simplifying

radical expressions.
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Algebraic examples of simplifying

radical expressions.
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Rationalizing a fraction with a radical

expression in the denominator.
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Solving radical equations.
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Next Time
Applications of Radical Expressions
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